SUSPENSION EXAMPLE S®LIDA

FASTENING SYSTEMS

Bolt anchor 10/89 = &

Cantilever arm ST 41/41/450

Washer M10 DIN 440 + - N ¥
Threaded rod M10x1000 : R ¢
Nut M10 DIN 934 = B

Sliding sledge M10

Threaded rod M10x1000 4,8

Nut M10 DIN 934

Two-screw pipe clamp M8/M10 54-59 mm

Fixing rails 38/40x6000mm 2,0 galvanized e
U-Shaped washer 38/40 hole:10,5 mm weight: 4m
Cap 38/40, 41/41

Slide tee-bolt assembly M10x50mm 38/40+40/60
Nut M10 DIN 934

Two-screw pipe clamp M8/M10 54-59 mm
Two-screw pipe clamp M8 48-53 6/4“

Slide tee-bolt assembly M8x50mm 38/40+40/60
Nut M8 DIN 934




